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APPLIED ALGEBRA 2
FINAL EXAM STUDY GUIDE CHAPTERS 6,7, 8,9, & 10

CHAPTER 6:

6.2-> Ildentifying Polynomial Functions
Decide whether the function is a polynomial function, If it is, write the function in standard form, state.

the degree, type and leading coefficient.
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Use direct substitution to evaluate the polynomial function for the given value of x.

3. f(x)=4x2-!— 2x3 — x4+ 7, forx:—zl
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4. f(x)= x3+ 5x% + 4x + 6, forx—z

‘§ (2= 2 3’% 5(2)° ﬁ% ( m

Cfx) = 23+ x°+ 3, forx= -1
%zymﬂﬁg%@ﬁgﬁﬂ
? @» )2~ HEDTS




6.3 Part One-> Adding and Subtracting Polynomials
Find each sum or difference.

6. (522 + 2x+ 1)+ (4x% + 3x—8) 7. (4x*+ x+6)+ (7x+10)
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6.1-> Propertles of Exponents

Evaluate each expression by applying exponent rules.
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6.3 Part Two-> Multiplying Polynomials & FOIL Metd

Find the product of the polynomials.

6.4 -> Factoring Polynomials

| Sum of Cubes-> a3+ b3 = (a + b)(a? — ab + b?)

Difference of Cubes-> a3 — b3 = (a + b)(a? + ab + b?)

Factor each polynomial using the sum or difference of cubes.
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Factor each polynomial by grouping.

Solve each equation.

28. 3x%2 =9x 29. x?*=2x+15
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CHAPTER 7:

7.1-> Finding nth Roots

Find the indicated real nth root(s) of a.

30. n=2, a=16 3. n=3, a=-1 32.n=4, a=-16
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Evaluate each expression.
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7.2-> Using Properties of Radicals

‘ Use the properties of rational exponents to simplify the expression.

46. V16 -
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Key

Write the expression in simplest form. Assume all variables are

positive.
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Perform the indicated operation. Assume all variables are positive.

52. 23— 3 53. 7(2'/®) + 4(21/8) 54. 4+x+ 2vVx
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7.3-> Operations with Functions

Let f(x) = 2—x and g(x) = 3x.

Add or subtract the following functions.

55. f(x) + g(x) | 56. f(x) — g(x)
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Mulitiply or divide the following functions.

57. f- g; f(x) = x1/2 ,g(x) = Iy 3 WW#M,E
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58. =; f(x) = 4x%/3, g(x) = 2x
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Let f(x) = 2x~ ! and g(x) = x — 2.

~ Perform the indicated operation.

N59. f(g(0) TM'M% 60. g(g(x)) )
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7.4-> Inverse Functions

Find an equation for the inverse relation.

60. y = 4x +8 61, y= —3x+ 12
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Solve the equation. Check your solution.
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.xponen'l'ial Growth and Decay Word Problems. Y

Compound Interest Formula-> y = a(1 + %)t'", where t = years,a =
initial amount,r = rate as a decimal, and n =

number of times compounded.

Exponential Growth Formula-> v = a(1 + )%, where t = years,a =
initial amount,r = % rate as a decimal

| Exponential Decay Formula-> y = a(1 — r)t,where t = years,a =
initial amount,r = % rate as a decimal
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The interest is charged on any unpaid balance at a rate of 18% per year
compounded monthly. If the customer makes no payment for one year,
how much is owed at the end of the year?
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7.5-> Graphing Square Root Functions

y =ovx —h+ k; Vertex = (h, k)

Graph ‘rhe square root f} ogrlon
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7.6-> Radical Equations
Solve the equation. Check your SO|U'|'IOH

64. ix +\z =0 65. ([ } é}




69. A house was purchased for $90,000 in 1995. If the value of the
home increases 5% per year, what will it be worth in the year 2020?

U= a ﬁj:é %?Et
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Exponential Decay Word Problems.

Exponential Decay Formula-> y = a(1 — ), where t = years,a =
initial amount,r = % rate as a decimal
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70. The power output is given by the equations P = 50e 50, where Pis
the power in watts and 7is the time in days.

o Find the power available after 100 days.

b. Ten watts of power are required to operate the equipment in the
satellite. Can the satellite still operate on day 404?
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71. A piece of machinery valued at $250,000 depreciates at 12% per
year. What will the value of the mcchiner'y be after 8 year®?

8.3-> Operations with “e”

Simplify each expression. Remember fo treat "e” just like a variable.

10e2

72. e* - e® 73. (2e3)3 74.
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8.4-> Logarithmic Functions

log,y < b*=y

Rewrite each equation in exponential form.

75. log, 64 = 4 77. log, -

Li" o (Y 27 5=

78. logg8=1 79. logl/3 3=-1




8.5-> Properties of Logarithms

Product Property-> log, uv = log, u+ log, v

Quotient Property-> log, %= log, u — logy v

Power Property-> log, u™ = nlog, u

Change-of-Base Formula-> log. u = %% OR log,u = 2% OR log,u = =%
1 1

logy ¢ 0gc nc

**Note-> b, ¢, and u must be positive numbers. b #1 andc # 1

Expand the expression.

1 80. log 9x

81. log26x

' + Inx*-X
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Condense the expression.

84. log, 12+ log, 5 85. In3+In6—1n9




CHAPTER o:

Simplify the rational expressions.
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Divide the rational expressions._
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CHAPTER 10:
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Find the mrdpom‘r of the Ime ségmem‘ Jomtng the two points.
X% fﬁa }{3; X &lﬁé 3‘{ 52@,
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Graph each circle ad give the center and radius.
95, x%2+y? =12 96. (x+3)2+(y—12=9

Center: (0,0

conter: C

Radius: Radius:




Graph the following and identify the major axis, vertices and co- -
vertices.

97. X4 ¥
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% Major axis:

Major axis:

(o
Vertices: gﬁﬁ g‘“’éi

Co-Vertices: (O

Vertices: (




